MAC1105 College Algebra
1.5 Practice Problems

1. The square of a number plus the number is 110. Find the number(s).
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2. The sum of the square of a positive number and the square of 3 more than the number is 65. What is
the number?
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3. Justin threw a rock straight up from a cliff that was 140 ft above the water. If the height of the rock
h, in feet, after t seconds is given by the equation A=—16¢"+92¢+140, how long will it take for the
rock to hit the water?
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4. The length of a rectangle is 5 inches less than four times its width. Its area is 21 square inches.
Find the dimensions of the rectangle.
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5. Aboat traveled downstream a distanés of. 3bm1 and then came rlght back. If the speed of the
current was 5 mph and the total trip took 4 hours and 30 minutes, find the average Speed of the boat
relative to the\ water. - -
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6. Brothers, Tommy and Jay, can mow their mother's lawn together in 67 minutes. Tommy could mow
the lawn by himself in 20 minutes less time than it would take Jay. How long would it take Iay to mow
the lawn by himself? : |+ @ w 5

o=

Vorien

o 2




